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B =rot A (3.19)
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E = _837 — grad ¢ (3.2
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(A — EM@)A — grad(div A + eua) = —uj (3.22)
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000000000 @G2)000000000000000000000000

fowQoR> Qo

A, =(0,0
=00, 48 gowS

Jeoswt, ¢ =0 (3.41)

0000 Af, ¢, 000000000000 @336),0 G3H0000000

800 2)p14200

9 (WR/2¢)? = (xR/N)?. 000000000000000C00000O00000O0O0ONOOONONOOOON0NOOOONDN0NON0OOONONooon
00000000000000 00000wR/c00000000000000 @300 E3DH0000000000000000000
00000000 00000000000000000

W((ExH)=00000 000000000000000000000000000000000000000000 ()00000000
00000000000 0000000000000



19

040

Juoood

0000000000000 ooo0oo00ooooDo0ooD(@MO)YQooooooDooooooooooo (@
gooo)ooo oo (UooooO)oooooL (UUoUoUooooOo)ooDooDooo

41 00OO0OOODOOOO

ooooO pO0OOOO0 yOO00OO0DOOOOOO0OO0OO0OO0O0O0O0O0OODOODOOOOOOOOOOOOOOOO0ODOO
ocoooooobooooobooooooooooboooboooooboOooooOobooobOboOobobbo bObbooobooooboooOoo
oooood 000000000000000000000

411 000000000 __poopooo — F(s)

goboooooooboboooobooooooooooooonn
O00Op, 00000000

E:—%—gradqz&, B =rot A, 4.1 J\
: S

92 0?
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E, = Eysinw(t — z/v), By:%sinw(t—z/v),
(4.19)
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DDkDDDDDDDDDDDDDEBDDDDDDD X
t=t, 0000
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E_= % ( cos(wt — kz), sin(wt — kz), 0), (4.24)
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( cos(wt — kz), —sin(wt —kz), 0), (4.25)

00 0@E24)000000000000000000
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o rot E = ( % 9, ) = 7 ( cos(wt — kz), sin(wt —kz), 0). (4.26)
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B ( —sin(wt — kz), cos(wt —kz), 0) = ( cos(wt — kz+7/2), sin(wt —kz+m/2),0), (427)
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1

(0,0,1), (4.28)
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Ei = EiO expi(wt—ki-w), Bl = BiO expi(wt—kiw). (429)
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H, = X% (4.30)
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k, x E
E, = Egexpi(wt — k- z), Hy= 22t (4.32)
w2
k, x E,
E, = Egexpi(wt — k, - x), H, = 4227 (4.33)
w1
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